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QL.

Pythagoras® theorem does not apply to all triangles. In which of the
ttiaﬁgles below does ¢2 = a2 + b2 apply?

e

Use ¢2 = ¢? + b2 to wrile an equation which shows the relationship
betwesn the sides of each &iangle:
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Use Pythagoras’ theorem to find x:

4cm () {c

Find the length of the hypotenuse in each of the following triangles:
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Write an equation which shows how the sides of each triangle are

related to each other;
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Hind the length of the side marked with a pronumeral:
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" Find the value of the pronumeral:
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Axze the following triangles right-angled?

(a) 24 cm, 32 cm and 40 cm

() 25.8m,34dmand 43 m
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Find the value of the pronumeral correct to 1 decimal place:
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(b) 10 m, 14 mand 17 m

(d) 15m, 15¢emand 30 ¢m




Ql.

Q2.

Q3.

A boat leaves port and sails 7 nantical files due west. It then changes course and
sails 16.8 nautical miles due north. How far is the boat from pori?

Two trees 20 m apart are of different heights, one is 12 m tall and the other is 60
m. What is the distance between the tops of the trees?

A roof is consiructed of rafters of length
29.2 m. The length of the ceiling is 52.8 m.
What 1s the height of the roef if the over-
hang of the rafter is 0.6 m?

Two streets are at right angles to each other. Two cars leave the intersection at the
same time, car A driving down one road at 72 km/h and car B driving at 54 km/h
down the other road. After 20 minutes how far apart are the two cars?

A triangular prism has & volume of 480 cm3. The cross section of the prism is an
isosceles triangle with base 6 cm. The depth of the prism is 20 cm. Find the length
of the longest side of the triangular cross section. (Answer correct to 2 d.p.)

A rectangular park has roads on two of its sides. A
path leads from one corner of the park to the oppo-
site cormer.

- {a) How much distance is saved by taking the
path rather than walking around thepark?

(6) If I walk 50 m every minute what time will T
save by taking the path? ‘

A kite is flying so that it is 65 m high and above a point 57 m from the person
holding the string, What is the length of the string correct to 3 decimal places?

The diagonals of a thombus are 16 cm and 24 cm. What is the length of the side
of the rhombus? &

The sides of a rectangle are such that the width is three qaaners the length. If the
diagonal is 15 cm, find the length and width. '

A radar, whose effective range is 500 m, is positioned 180 m from a straight road.
What length of the road is under radar surveillance? (Answer to nearest m.)
Road
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(@) No ® Yes () No () Yes

() AC?= AB?+ B(? () MO? = MM + NO?
&y X=Xy Y7 (d) PR? = QR? + QP2

(a) 5cm {t) i0cm ) 20m (d) 26m
(&) 25m by 39 em T {c) 15 m {d) 30cm
(a) P=g*+p* o)X=+ ©) A=x+ @ FB=r+r
(a) 20m (o) 4cm (¢} 18cm + (d) I2cm
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Level 2 — Pythagoras’ Theorem
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Level 3 — Pythazoras’ Thesrem

Q1. 182 nautical miles Q2Z2, 52m . Heightis 11 m.
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